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THIS EXAM CONTAINS 6 QUESTIONS! PLEASE, ANSWER ALL OF THEM!!

1. Some countries have low ratios of international trade (exports + imports) to GDP (such as
the United States), while, in other countries, the ratio of international trade to GDP exceeds
one. How is it possible for trade to exceed the value of GDP?

2. Consider the following table.

Country A Country B
Hours per bushel of 5 8
wheat
Hours per yard of cloth 5 5

A) Which country has an absolute advantage in wheat production?

B) Which country has an absolute advantage in cloth production?

C) Which country has a comparative advantage in wheat production?

D) Which country has a comparative advantage in cloth production?

E) In what range must the international price of wheat fall?

F) Which country is likely to gain more from trade if the international price of wheat is 7/5 bushel
per yard of cloth?

3. How does the specific factors model differ from the Heckscher-Ohlin (HO) model?
4. Suppose that imports and exports in an industry are both $100 million. If exports rise to
$200 million, will the value of the industry's index of intra-industry trade rise, fall, or

remain the same?

5. What are five main factors that influence migration decisions of potential migrants from
developing countries? Discuss each of them shortly.

6. The future of China’s economic growth.



